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QUESTION 1

With the Rules Centralization pattern, business rules are: 

A. retrieved and applied at runtime 

B. distributed across multiple business-centric services 

C. expressed and centralized in policies 

D. All of the above 

Correct Answer: A 

 

QUESTION 2

Two services need to exchange a business document that exists as an XML document. Each service\\'s contract uses a
different XML schema to represent the business document structure. This results in two different XML representations
for the same business data. Which of the following patterns can be used to enable the exchange of the business
document between these two services? 

A. Data Format Transformation 

B. Protocol Bridging 

C. Atomic Service Transaction 

D. Data Model Transformation 

Correct Answer: D 

 

QUESTION 3

Which of the following is not required for an atomic service transaction to be successfully carried out? 

A. participating services need to capture a snapshot of current data prior to making changes to it 

B. a transaction management system that coordinates the actions of participating services 

C. transaction participants need to be limited to atomic service agents 

D. transaction participants must be able to commit changes or rollback uncommitted changes 

Correct Answer: C 

 

QUESTION 4

In order to realize the failover support provided by the application of the Redundant Implementation pattern, the
Intermediate Routing pattern also needs to be applied so that services can be load balanced. 
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A. True 

B. False 

Correct Answer: B 

 

QUESTION 5

Which statement regarding intermediate routing is true? 

A. The application of the Intermediate Routing pattern is suitable for handling message routing requirements that are
dynamic in nature and difficult to anticipate in advance. 

B. The application of the Intermediate Routing pattern is suitable for handling pre- determined message paths with fixed
routing requirements that cannot be changed at runtime. 

C. The application of the Intermediate Routing pattern tends to improve runtime performance when compared to an
approach whereby routing logic is embedded within individual services. 

D. None of these statements are true. 

Correct Answer: A 
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